
������� ��������� 

����� ��� ��� ������� ��������� 
∞ 

���������� L[f(t)] = F (s) = 
ˆ 

f(t)e−st dt ��� Re (s) >> 0� 
0− 

���������� L[af(t) + bg(t)] = aF (s) + bG(s)� 

L−1� F (s) ����������� ���������� f(t)� 

s������ ����� L[ertf(t)] = F (s − r)� 

t������������ L[f �(t)] = sF (s) ����� f �(t) ������� ��� ����������� ����������� 

�� f(t) �� ���������� ��� t > 0 ��� fr
�(t) �� ��� �������� ����������� ���� 

L[fr�(t)] = sF (s) − f(0+)� 

�������� ��� ��� ������� ��������� 

1 L[1] = , L[δ(t − a)] = e−as 

s 
1 n! L[e rt] = , L[tn] = 

s − r sn+1 

s ω L[cos(ωt)] = 
s2 + ω2 

, L[sin(ωt)] = 
s2 + ω2 

�� ���� ����� ��� ����� ��� ��������� ��� ������� ��������� �� u(t)e−t(t2 + 1) 

�� ��� f(t) = e−t cos(3t)� ���� ��� ����� ��� ������� ���� �� F (s) = L[f(t)]� 
������� ��� ����������� ���������� f �(t) ��� ��� ������� ���������� ������ ��� t� 
���������� ���� �� ���� ����� 

�� ���� ��� ������� ������� ��������� ��� ���� �� ��� ���������� 

2s + 1 s2 + 2 2 
s2 + 9 

,
s3 − s

, 
s2(s − 1) 

�� ���� ��� ���� ���� ��� ������� �������� ��� ��� �������� D +2I� ����� ��� ������� 
���������� 

�� ����� ẋ+ 2x = t2 ���� ������� ��������� x(0+) = 1� ����� ������� ���������� 
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